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Y=245 (dx=7.1e-02, do=2.3e-01)

f=1304, X=4014.5

Y=491 (dx=5.5e-02, do=2.3e-02)

T pfsArm
| ™ (x=401320, 0=1.17)
1 calExp

= (x=4013.28, 0=1.40)
s Residual*s
= Trace

1 calExp
= (x=4011.80, 0=1.17)

e Residual*5
== Trace

Lpl

Y=736 (dx=2.3e-02, do=9.6e-02)

Y=1228 (dx=-2.4e-02, do=8.1e-03)

1 = Kiélromu 74, 0=1.15)
Y=1473 (dx=3.3e-02, do=-1.3e-02)

T pfsArm
1 == (x=4010.70, 0=1.15)

calExp
= (x=4010.72, 0=1.24)
m— Residual*s
== Trace

I!—.L_

T fsArm T pfsArm
1 = (x=4009.72, 0=1.15) 1 = (x=4009.71, 0=1.15)
calExp 1 calExp
= (x=4009.69, 0=1.15) = (x=4009.74, 0=1.14)
= Residual*5 = Residual*5
= Trace = Trace

= T

Y=1719 (dx=1.9e-02, do=-1.5e-03)

pfsArm
I = (x=4009.94, 0=1.16)
I calExp
= (x=4009.96, 0=1.16)
e Residual*5
- Trace

T
1

|
Y=2210 (dx=5.0e-03, do=-3.9e-03) Y=2456 (dx=2.8e-02, do=-4.9e-02)
I pfsArm pfsArm
| = (x=4011.17,0=117) | ™ (x=4012.16,0=117)
1 — ((:LE:(')Jn.ls, 0=1.16) 1 e ((:LE:gu 19, 0=1.12)

e Residual*5
w— Trace

e Residual*5
= Trace

Y=2702 (dx=2.2e-02, do=-1.7e-02)

pfsArm

| ™ (x=401339, 0=1.19)
1 calExp
—(x=4013.42, 0=1.17)

e Residual*s
== Trace

Y=3193 (dx=7.9e-02, do=-1.1e-02) Y=3439 (dx=1.5e-01, do=3.4e-03)
T pfsArm T pfsArm
1 = (x=4016.86, 0=1.19) | ™ (x=4019.10, 0=1.19)
1 = (CEI:E:&G.M, 0=1.18) | — (CSI:E:&Q 25, 0=1.19)

e Residual*5
| Trace

e Residual*5
= Trace

1

Y=3684 (dx=2.2e-01, do=3.3e-02)
T pfsArm
1 = (x=4021.86, 0=1.19)
] = (CEI:E:opzz.m, 0=1.22)

e Residual*s
= Trace

4010 4020 4030

4010 4020 4030

4010 4020 4030

Y=982 (dx=-4.6e-02, do=3.8e-02)

T pfsArm
I = (x=4010.00, 0=1.16)
1 calExp

= (x=4009.96, 0=1.20)
I e Residual*5
= Trace

1
Y=1965 (dx=-1.0e-02, do=-1.7e-02)

pfsArm
| ™ (x=4010.43,0=117)

calExp
= (x=4010.42, 0=1.15)
e Residual*5

== Trace

Y=2947 (dx=8.2e-03, do=-4.0e-02)

T pfsArm
1 = (x=4014.97, 0=1.18)
1 calExp

—(x=4014.98, 0=1.14)
e Residual*5
== Trace

1
Y=3930 (dx=4.0e-01, do=1.5e-01)

pfsArm
= (x=4025.16, 0=1.19)

calExp
= (x=4025.56, 0=1.33)
m—Residual*s
- Trace

4010 4020 4030 4040
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f=1305, X=4008.3

Y=

736 (dx=2.9e-01, do=-1.4e-01)

Y=245 (dx=2.0e-01, do=1.4e-01) Y=491 (dx=3.1e-01, do=-1.2e-01)
I. T pfsArm T pfsArm
1 == (x=4006.70, 0=1.50) I = (x=4004.96, 0=1.60)
A calEx I — calExp
(x= 1006, 90, 0=1.64) (x=4005.27, 0=1.49)
m— Residual*s m— Residual*s
== Trace == Trace
1 " T T T r' LI In T T
Y=1228 (dx=2.0e-01, do=-1.6e-01) Y=1473 (dx=2.0e-01, do=-6.0e-02)

T pfsArm
| ™ (x=4003.93, 0=1.60)

calExp
== (x=4004.21, 0=1.46)

wem Residual*s

Y=982 (dx=1.9e-01, do=-1.3e-02)

H.__

e Residual*5
- Trace

O — r r
I pfsArm l' I pfsArm

| = (x=4003.03, 0=1.59) | = (x=4003.10,0=1.54)
1 calExp 1 calExp

= (x=4003.23, 0=1.43) = (x=4003.30, 0=1.48)

e Residual*5
= Trace

|

T pfsArm
1 === (x=4003.65, 0=1.45)
| calExp

= (x=4003.84, 0=1.44)

wem Residual*s
== Trace

== Trace
:I: '
Y=1719 (dx=6.7e-02, do=-4.0e-02)
I I pf;Arm
1 m—(x=4003.72, 0=1.44)

calExp

== (x=4003.78, 0=1.40)
m— Residual*s

== Trace

o e

Y=2702 (dx= 1.2e- 01, do=-8.7e- 02)

pfsArm
| (%24004.00, 0=1.49)

calExp
=== (x=4004.15, 0=1.35)
wmm— Residual*5

pfsArm
=== (x=4007.10, 0=1.43)

calExp

= (x=4007.21, 0=1.34)
e Residual*s

= Trace

Y=2947 (dx='1.3e-01 do=-6.7e-02)

T T
Y=2210 (dx=4.9e-02, do=-2.5e-02) Y=2456 ( x=4.6e- 02, do=-9.4e- 02)
L T prsArm
1 === (x=4005.93, 0=1.46)
| H 1 calExp
= (x=4005.98, 0=1.36)
e Residual*5
T (x 4004 92, 0=1.44) - Trace
IExp
- lx=4004.97, 0=1.41)
= Residual*5
= Trace
] 1 #r-gh.. _| 1
1 T
Y=3193 dx 1.5e-01, do=-3.9e- 02 Y=3439 dx 6.2e-02, do=-6.5e- 02)
T pfsArm T pfsArm
I = (x=4010.32, 0=1.52) 1 === (x=4012.93, 0=1.46)
| calExp calExp
= (x=4010.47, 0=1.48) = (x=4012.99, 0=1.39)
= Residual*5 e Residual*5
- Trace - Trace
1
1
- ] - e — T
Ly 1

3684 (dx=1.6e-01, do=4.3e-02)

P b

T (x 4008 37, 0=1.57)

I 5 (X 4008 51, 0=1.50)

= Residual*5

e

4000

4010

4020

4000

4010 4020

pfsArm
| = (x=4015.34, 0=1.49)

l

calExp
= (x=4015.49, 0=1.53)
mmm Residual*s
= Trace

Y=3930 I(dx=3 Oe- 01 do=4.5e- 02)

4000

4010 4020

pfsArm
== (x=4018.96, 0=1.43)

calExp
= (x=4019.25, 0=1.47)
m— Residual*s
== Trace

_...I.'_

4030

4010 4020 4030
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calexp Residual Chi Shift measure
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Y=245 (dx=-5.7e-02, do=9.9e-03)

f=1306, X=4002.0

Y=491 (dx=-1.0e-01, do=-1.1e-01)

pfsArm T pfsArm T
= (x=4000.25, 0=1.80) 1 = (x=3998.29, 0=1.81) 1
calExp 1 calExp 1
= (x=4000.19, 0=1.81) - (x= 3008, 19, 0=1.70)
_| == Residuarrs 1 s Residual*s 1
= Trace | == Trace l
=
. —— e — o o -

calExp
o = (x=3997.23, 0=1.70)

Y=1228 (dx=4.3e-02, do=-1.1e-01)

;{J_\ 3

i Trace

Al

pfsArm pfsArm I h
= (x=3996.42, 0=176) 1 = (x=3996.49, 0=173) 1
calExp 1 calExp
= (x=3996.46, 0=1.65) = (x=3996.58, 0=1.63)
| === Residual*5 I = Residual*5

= == Trace

Y=2210 dx 12e 01 do=-4.2e- 02)

pfsArm
- = (x=3997.30, 0=1.94)

calExp
(x=3997.42, 0=1.90)

== Residual*5

= Trace

pfsArm
= (x=3998.44, 0=1.91)

calExp

(x=3998.56, 0=1.90)
= Residual*5
w— Trace

e,

Y=3439 (dx=-1.4e- 01 do=1.1e- 01)

pfsArm
—(x=4003.70, 0=1.67) 1

calExp
= (x=4003.79, 0=1.67)
= Residual*5
- Trace

pfsArm
= (x=4005.68, 0=1.80)

calExp
=== (x=4005.54, 0=1.91)
= Residual*5
= Trace

1= (x 3996.43, 0=1.82)

b e

Y=736 (dx=-5.1e-02, do=-1.1e-01)

pfsArm
= (x=3997.29, 0=1.81)

w— Residual*s
== Trace

pfsArm

— (x=3995.53, 0=1.75)
= Residual*5
== Trace

Y=2702 (dx=-1.7e-02, do=-1.0e-01)

pfsArm I
= (x=4000.55, 0=1.59) 1

calExp,
= (x=4000.53, 0=1.49)
e Residual*5
= Trace

3990 4000 4010

4020 3990

4000 4010 4020

pfsArm
= (x=4008.78, 0=1.61)

calExp
== (x=4008.60, 0=1.79)
e Residual*5
= Trace

L

4000 4010 4020

=
T pfsArm
| ™ (x=3996.23, 0=1388)
| calExp
_(x= 3996 30, 0=1.80)
I Resiquars
l w Trace
- - e —

Y=982 (dx=6.7e-02, do=-8.4e-02)

Y=1965 (dx=2.6e-02, do=-1.1e-01)

pfsArm T
= (x=3997.53, 0=1.62) 1

calExp

— (x=3997.56, 0=1.51)
= Residual*5
== Trace

.

Y=2947 (dx=7.9e-02, do=-3.1e-02)

pfsArm
| ™ (x=4001.63, 0=176)
1 calExp

= (x=4001.71, 0=173)

= Residual*5
== Trace

calExp
- ™ (x=4011.05, 0=2.06)

pfsArm
= (x=401179, 0=1.77)

e Residual*s
= Trace

4000 4010 4020
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Y=245 (dx=1.2e-01, do=2.3e-02)

f=1307, X=3995.7

Y=491 (dx=-1.6e-02, do=1.5e-02)

T pfsArm
| =™ (x=3994.42, 0=1.14)
1 calExp

= (x=3994.55, 0=1.16)
s Residual*5
= Trace

pfsArm
| ™ (x=3993.00, 0=1.14)

1 calExp
= (x=3992.99, 0=1.15)

m— Residual*s

== Trace

Y=736 (dx=-1.9e-02, do=-1.2e-02)

1
Y=1228 (dx=-2.1e-02, do=-2.9e-02)

Y=1473 (dx=4.1e-03, do=-3.5€-02)

pfsArm
| ™ (x=3991.98, 0=114)
calExp
= (x=3991.96, 0=1.13)
—Residual*s
== Trace

Y=1719 (dx=5.7e-04, do=-2.7e-02)

pfsArm
| ™ (x=3991.03, 0=1.14)

calExp
= (x=3991.01, 0=1.11)
w—— Residual*5

= Trace

pfsArm
| ™ (x=3991.03,0=1.14)
calExp
= (x=3991.04, 0=1.11)
m— Residual*5
= Trace

T
1

pfsArm
| ™ (x=399127,0=1.14)

calExp
= (x=3991.27, 0=1.12)
e Residual*5

== Trace

- —(x=3992.51, 0=1.12)
m—— Residual*5
w— Trace

1

Y=2210 (dx=7.4e-03, do=-3.0e-02) Y=2456 (dx=3.6e-02, do=-3.2e-02)
I pfsArm I pfsArm
| ™ (x=3992.50, 0=1.15) | ™ (x=3993.48 0=115)
I e r— ((:LE;S% 51, 0=1.12)

m— Residual*5
= Trace

Y=2702 (dx=2.3e-02, do=-4.1e-02)

Y=3193 (dx=6.4e-02, do=-1.8e-02)

Y=3439 (dx=1.1e-01, do=2.4e-03)

I pfsArm
| ™ (x=399471,0=1.16)

calExp
m—(x=3994.74, 0=1.12)
m——Residual*5

= Trace

i pfsArm
| = (x=3998.13,0=117)

calExp

(x=3998.19, 0=1.15)
e Residual*5
| Trace

T
1

pfsArm
| ™ (x=4000.35, 0=1.17)

calExp
= (x=4000.46, 0=1.17)
m— Residual*s
- Trace

1
Y=3684 (dx=1.8e-01, do=2.1e-02)

3990 4000 4010

3990 4000 4010

T pfsArm
1 = (x=4003.08, 0=1.17)

I calExp

= (x=4003.26, 0=1.19)
m— Residual*5
= Trace

3990 4000 4010

Y=982 (dx=-5.7e-02, do=-1.8e-02)
T

pfsArm
| ™ (x=3991.30, 0=1.14)
1 calExp
- (x=3991.25, 0=1.12)
— Residual*s
== Trace

Y=1965 (dx=-2.0e-02, do=-3.1e-02)

N I pfsArm
1 = (x=3991.81, 0=1.15)

calExp
= (x=3991.79, 0=1.12)
m—Residual*5

== Trace

1
Y=2947 (dx=6.0e-02, do=-3.3e-02)

pfsArm
_ 1 m—(x=3996.26, 0=1.16)

1 calExp
m—(x=3996.32, 0=1.13)

m——Residual*5
== Trace

1
Y=3930 (dx=3.5e-01, do=7.4e-02)

pfsArm
| ™ (x=4006.35,0=1.17)

calExp
= (x=4006.71, 0=1.24)
m—Residual*5
- Trace

3990 4000 4010 4020



f=1308, X=3989.7

calexp Residual Chi .
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Y=245 (dx=4.0e-01, do=-3.6e-01)

f=1308, X=3989.7

Y=491 (dx=4.8e-01, do=-3.7e-01)

Y=736 (dx=2.1e-01, do=-2.2e-01)

Y=982 (dx=3.2e-01, do=-2.6e-01)

1 pfsArm
= (x=3989.04, 0=2.04)

alExp
- (x 3939 44, 0=1.69)
— Residual*s
] == Trace

= pfsArm T
= (x=3988.38, 0=1.94)
calExp
_(x= 3988 86, 0=1.57)
7| m—Residual*s
w | Trace
J1]J]~\:r|'

pfsArm
= (x=3987.48, 0=1.92)

calExp
= (x=3987.69, 0=1.71)
wm— Residual*s
== Trace

-

| = (x=3986.45, 0=1.77)

pfsArm
= (x=3986.14, 0=2.03)

calExp

== Trace

1
1
= Residual*5 I
1
1
[

Y=1228 (dx 1.6e- Ol do=-2.5e- 01)

Y=1473 (dx=9.4e-02, do=-2.3e-01)

Y=1719 (dx=1.2e-01, do=-2.0e-

o
=

Y=1965 (dx=8.5e-03, do=3.6e-02)

pfsArm

| = (x=3986.44, 0=1.94)
calExp

= (x=3986.60, 0=1.69)

= Residual*5

= Trace

pfsArm
| = (x=3986.52, 0=1.94)

L

calExp
— (x=3986.62, 0=1.71)
e Residual*5

= Trace

pfsArm
— (x 3986.26, 0=2.04)

— (x:agas,sg, 0=1.84)
= Residual*5
== Trace

Y=2456 (dx=2.5e-01, do=-2.9e-01)

Y=2702 (dx 2.3e- 01 do=-2.5e- 01)

pfsArm
= (x=3987.02, 0=2.06)
calExp
n = (x=3987.20, 0=1.82)
= Residual*5

== Trace

pfsArm
= (x=3988.08, 0=2.10)
calExp
. = (x=3988.34, 0=1.81)
e Residual*5

== Trace

L
Y=3193 (dx=-4.0e-02, do=-1.3e-01)

Y=3439 (dx=1.6e-01, do=-3.3e-01)

pfsArm
= (x=3993.41, 0=1.97)

calExp

(x=3993.37, 0=1.84)
e Residual*s
= Trace

pfsArm
= (x=3995.22, 0=2.06)
calExp
= (x=3995.38, 0=1.74)
m— Residual*5
- Trace

calEx|

== Trace

pfsArm
= (x=3988.88, 0=2.16)

I
p
1 = (x=3989.11, 0=1.92)
I [ — Residuars

|

pfsArm L
= (x=3991.32, 0=2.03)
_ calExp
(x=3991.38, 0=1.85)
e Residual*5

Y=3684 (dx=-2.3e-01, do=-6.7e-02)

pfsArm
= (x=3998.50, 0=1.95)

calExp
= (x=3998.27, 0=1.88)
= Residual*5
w— | Trace

3980 3990 4000

3990 4000

4010

t-

v

pfsArm
= (x=3986.22, 0=1.81)

calExp
= (x=3986.23, 0=1.84)

e Residual*5
= Trace

]

Y=2947 (dx=5.7e-02, do=-1.8e-01)

= Trace

Y=3930 (dx=-1.9e-01, do=-6.3e-02)

|

pfsArm
= (x=4001.13, 0=2.03)

calExp
= (x=4000.94, 0=1.97)
e Residual*5
== Trace

3990 4000

4010

SE

4000 4010

3990
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Y=245 (dx=-4.4e-01, do=-6.5e-02)

f=1309, X=3983.4

Y=491 (dx=-1.1e-01, do=3.6e-01)

|

A

pfsArm
= (x=3982.70, 0=1.74)

calExp
= (x=3982.26, 0=1.67)

]

L

al__

pfsArm

= (x=3980.37, 0=1.29)

calExp
= (x=3980.26, 0=1.65)

J_ Residual*5 : me Residual*5
w Trace == Trace
Al H. |‘ }r, ) T ,ﬂﬂ
Y=1228 (dx=-3.8e-01, do=-7.8e- 02) Y=1473 (dx=-2.9e-01, do=-1.2e-01)
I feAm I pfsArm 1
1 = (x=3979.z7, 0=1.74) 1 = (x=3979.16, 0=1.68)
calExp -1 1 calExp
= (x=3978.89, 0=1.66) = (x=3978.86, 0=1.56)
" Residual*5 e Residual*5
—- Trace == Trace
- | JJ- | .

Y=2210 (dx—-2 0e-01, do=-7. de- 02)

L

pfsArm

= (x=3980.35, 0=1.47)
calExp

m—(x=3980.15, 0=1.40)

= Residual*5

- Trace

1
S B EE—
—

pfsArm
= (x=3981.31, 0=1.47)

calExp
m— (x=3981.08, 0=1.39)
= Residual*5

- Trace

calExp
= (x=3985.50, 0=1.50)
e Residual*5
= Trace

1 1 1
I = —

Y=3193 (dx=7.2e-02, do=1.2e-01) Y=3439 (dx=-8.6e-02, do=-1.4e-01)
T pfsArm T pfsArm
| = (x=3985.43, 0=1.38) 1 = (x=3988.09, 0=1.47)

calExp
= (x=3988.01, 0=132)
e Residual*5
= Trace

3970

3980

3990

4000

3980

3990

4000

Y=736 (dx=-1.7e-01, do=4.1e-01)

ISR
11|

pfsArm
= (x=3979.38, 0=127)

calExp
= (x=3979.21, 0=1.68)

= Residual*s

== Trace

Y=1719 (dx=-1.8e-01, do=-1.3e-02)

pfsArm
= (x=3979.28, 0=1.60)

calExp

= (x=3979.11, 0=1.58)
= Residual*5

= Trace

i
Y=2702 (dx=-1.7€-01, do=4.2e-02)
- pfsArm I
= (x=3982.49, 0=1.45) 1
— calExp 1
(x=3982.31, 0=1.49)
7| == Residual*5
= Trace
|:| | I ]
- - — — — I — — e —
1

Y=3684 (dx=5.1e-02, do=1.9e-01)

1

115

pfsArm
= (x=3990.40, 0=1.32)

calExp

(x=3990.45, 0=1.51)
= Residual*s
= Trace

3980

3990

4000

Y=982 (dx=-5.0e-01, do=4.1e-02)

pfsArm
= (x=3979.46, 0=1.66)
calExp
_(x= 3978 96, 0=1.70)
— Residual*s
== Trace

Y=1965 (dx=2.8e-02, do=3.1e-01)

= Residual*5

pfsArm I
= (x=3979.25, 0=124) |
calExp 1
= == (x=3979.28, 0=1.55)

w— Trace
Y= 2947 x=3.7e- 02 do=-1.1e- 01)
L I pfsArm
1 = (x=3984.07, 0=1.50)

ik

calExp
= (x=3984.11, 0=1.39)
e Residual*5

== Trace

T T T
Y=3930 (dx=-2.3e-02, do=7.5e-02)
T pfsArm
1 = (x=3994.02, 0=1.43)
| calExp
= (x=3994.00, 0=1.50)
—Residual*s
== Trace
4 a 1

3980

3990

4000 4010




f=1310, X=3977.2

Residual Chi . Shift measure
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- 800
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1500 == 1500
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f=1310, X=3977.2

Y=245 (dx=1.1e-01, do=1.7e-01) Y=491 (dx=1.6e-02, do=1.7e-01) Y=736 (dx=9.5e-02, do=1.5e-01) Y=982 (dx=1.5e-01, do=1.9e-01)

T pfsArm T pfsArm T pfsArm T pfsArm
1 — (x=3975.67, 0=1.22) | ™ (x=3974.18,0=123) | ™ (x=3973.18,0=123) 1 = (x=3972.65, 0=1.23)
1 calExp 1 calExp 1 calExp 1 calExp
= (x=3975.78, 0=1.38) = (x=3974.20, 0=1.41) T = (x=3973.28, 0=1.39) = (x=3972.80, 0=1.42)
s Residual*s m— Residual*s m—Residual*5 . = s Residual*5
- Trace . = Trace = Trace ] - Trace
L |
1
T T T U T T T T T T T T T T =
Y=1228 (dx=9.4e-02, do=1.3e-01) Y=1473 (dx=3.0e-02, do=8.4e-02) Y=1719 (dx=1.1e-01, do=1.4e-01) Y=1965 (dx=5.2e-02, do=5.4e-02)
pfsArm pfsArm I pfsArm T I pfsArm
| ™ (x=397226,0=1.24) — (x=3972.27, 0=1.25) 1 — (x=3972.63, 0=1.22) | ™ (x=3973.07,0=123)
1 calExp 7 calExp E 1 calExp calExp
= (x=3972.36, 0=1.37) = (x=3972.30, 0=133) h = (x=3972.75, 0=1.36) E = (x=3973.12, 0=128)
= Residual*5 = Residual*5 = Residual*5 e Residual*5
= = Trace = Trace = Trace
T T T T T T T T T T T T
Y=2210 (dx=1.0e-01, do=4.9e-02) Y=2456 (dx=6.2e-02, do=4.7e-02) Y=2702 (dx=1.4e-01, do=4.4e-02) Y=2947 (dx=5.7e-02, do=-5.0e-02)
T pfsArm - T pfsArm T pfsArm T T pfsArm
1 = (x=3973.84, 0=122) 1 = (x=3974.81, 0=122) I = (x=3976.01,0=123) | = x=3977.42,0=131)
calExp 1 calExp 1 calExp calExp
= (x=3973.94, 0=127) = (x=3974.87, 0=127) _ = (x=3976.15, 0=127) = (x=3977.48, 0=1.26)
= Residual*5 N == Residual*5 I = Residual*5 T e Residual*5
- Trace - Trace - Trace
| |
- 1 —
M rq F u ! -
T 1 T T T T T T T LI T 1 T T T T T
Y=3193 (dx=4.6e-02, do=5.1e-02) Y=3439 (dx=9.9e-02, do=1.1e-01) Y=3684 (dx=8.4e-02, do=8.5e-02) Y=3930 (dx=3.8e-02, do=2.9e-01)
pfsArm 7 pfsArm pfsArm T pfsArm
= (x=3979.30, 0=1.28) = (x=3981.47, 0=1.32) I = (x=398422,0=126) . | = (x=3987.43,0=1.30)
calExp calExp | calExp calExp
= (x=3979.35, 0=1.33) _ = (x=3981.57, 0=1.43) _ = (x=3984.31, 0=1.34) = (x=3987.47, 0=1.59)
m— Residual*5 m—Residual*5 m—Residual*5 m—Residual*5
- Trace - Trace - Trace - Trace
- [ - — - — — I- — —
i I !

3970 3980 3990 3970 3980 3990 3970 3980 3990 4000 3980 3990 4000
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Y=245 (dx=3.9e-04, do=1.7e-02)

f=1339, X=3796.0

Y=491 (dx=-6.8e-02, do=1.4e-02)

pfsArm
| =™ x=3794.35,0=114)

1 calExp
= (x=3794.35, 0=1.16)
— Residual*s
= Trace

T pfsArm
| ™ (x=379325,0=1.14)
calExp
= (x=3793.18, 0=1.15)
m— Residual*s
== Trace

Y=736 (dx=-1.5e-02, do=2.6e-02)

pfsArm
| ™ (x=3792.49,0=115)
1 calExp

= (x=3792.48, 0=1.17)
m— Residual*s
== Trace

Y=1228 (dx=4.8e-02, do=-9.3e-03)

Y=1473 (dx=8.1e-02, do=5.3e-04)

T fsArm i T pfsArm
| = (x=3791.88,0=115) 1 = (x=3792.01, 0=1.14)
1 calExp 1 calExp

= (x=3791.93, 0=1.14) = (x=3792.09, 0=1.14)

e Residual*5
= Trace

e Residual*5
= Trace

Y=1719 (dx=7.2e-02, do=-3.2e-03)

pfsArm
| = (x=379230,0=1.14)

1 calExp
— (x=3792.37, 0=1.14)

= Residual*5

== Trace

1 1

Y=2210 (dx=7.6e-02, do=-1.2e-02) Y=2456 (dx=7.9e-02, do=-9.9e-03)
I pfsArm pfsArm
| =™ (x=3793.47,0=1.14) | =™ (x=3794.38,0=114)
l — ((55%3.55, 0=1.13) T L ((:LE;;QA 46, 0=1.13)

e Residual*5
w— Trace

e Residual*5

Y=2702 (dx=5.8e-02, do=-2.9e-02)

Y=3193 (dx=4.0e-02, do=-9.3e-03)

Y=3439 (dx=-4.9e-03, do=-1.5e-02)

I pfsArm

1 m—(x=3795.49, 0=1.15)

1 calExp
m—(x=3795.55, 0=1.12)

e Residual*s

pfsArm
| = (x=3798.49, 0=115)

| calExp

= (x=3798.53, 0=1.14)
= Residual*5
= Trace

pfsArm
| ™ (x=3800.46, 0=1.15)

| calExp

= (x=3800.45, 0=1.13)
= Residual*5
- Trace

1
Y=3684 (dx=2.6e-02, do=-4.0e-03)

pfsArm
| ™ (x=3802.82, 0=1.15)

calExp

(x=3802.84, 0=1.14)
e Residual*s
= Trace

3790 3800 3810

3790 3800 3810

3790 3800 3810

Y=982 (dx=1.8e-02, do=8.7e-03)

T pfsArm
1 = (x=3792.08, 0=1.14)

1 calExp
= (x=3792.10, 0=1.15)

- e Residual*5
== Trace

Y=1965 (dx=4.5e-02, do=-2.4e-02)

I fsArm
| = (x=3792.76,0=1.14)
calExp
= (x=3792.81, 0=1.12)
e Residual*5
= Trace

i

o

1
Y=2947 (dx=4.6e-02, do=-2.3e-02)
I pfsArm
| ™ (x=3796.83, 0=1.15)
-1 I r— (?‘:?7%6.88, 0=1.12)

e Residual*5
== Trace

Y=3930 (dx=1.1e-01, do=4.3e-02)

pfsArm
| ™ (x=3805.71, 0=1.15)

| calExp

= (x=3805.81, 0=1.19)
e Residual*5

== Trace

3790 3800 3810 3820



f=1342, X=3777.3

calexp Residual Chi . Chi
4000 - 2500 I . == _=:= . 4000
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- 100
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2000 | o
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=3 L0 = ke
2 _ _E _: — _— = . 2 t °
3 = — = _E:,—._ —— B 0 ° r.‘
> 2000 = == - 2000
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1000 : === ] . 1000
500 = =
—-100 =
500 : S - . 500
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X (pix)
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Y=245 (dx=1.3e-01, do=5.7e-03)

f=1342, X=3777.3

Y=491 (dx=4.4e-02, do=2.0e-02)

T pfsArm
| = (x=3775.62, 0=125)
1 calExp

= (x=3775.75, 0=125)
s Residual*s
= Trace

T pfsArm
| = (x=3774.54,0=125)
calExp
= (x=3774.59, 0=127)
m— Residual*s
== Trace

1
Y=1228 (dx=6.8e-02, do=-4.0e-02)

Y=1473 (dx=4.8e-02, do=-2.7e-02)

pfsArm
| =™ (x=3773.32,0=120)

calExp
= (x=3773.39, 0=1.16)
= Residual*5

= Trace

pfsArm
| = (x=377339,0=122)

calExp
= (x=3773.44, 0=1.19)
= Residual*5

1

Y=2210 (dx=6.7e-02, do=2.9e-02) Y=2456 (dx=6.0e-02, do=2.4e-02)
I pfsArm pfsArm
| = (x=3774.68,0=1.43) | ™ (x=3775.63,0=137)
| e — f:f;fw.w, 0=1.39)

(x=3774.75, 0=1.46)
e Residual*5
w— Trace

e Residual*5
= Trace

Y=3193 (dx=6.3e-02, do=-2.9e-02)

Y=3439 (dx=6.6e-01, do=1.2e-01)

pfsArm
= (x=3779.67, 0=1.42)

calExp

(x=3779.73, 0=1.39)
e Residual*5
| Trace

pfsArm
= (x=3781.64, 0=1.38)

calExp

(x=3782.30, 0=1.50)
mm Residual*5
w Trace

3770 3780 3790

3770 3780 3790

Y=736 (dx=2.6e-02, do=-1.4e-02)

Y=982 (dx=6.9e-02, do=-1.0e-02)

pfsArm
| = (x=377375,0=134)

calExp
= (x=3773.78, 0=1.32)

e Residual*5

1
Y=1719 (dx=4.3e-02, do=3.0e-02)

pfsArm
| = (x=3773.43,0=123)

calExp
= (x=3773.50, 0=122)

e Residual*5
== Trace

Y=1965 (dx=8.9e-02, do=-1.8e-02)

pfsArm
| = (x=3773.61,0=1.31)
calExp
= (x=3773.65, 0=1.34)
= Residual*5
= Trace

I pfsArm
1 = (x=377422, 0=120)
calExp

= (x=3774.31, 0=1.18)
e Residual*5
== Trace

Y=2702 (dx=7.1e-02, do=-8.5e-04)

pfsArm
| = (x=3776.68,0=1.44)

calEx
= (x=3776.75, 0=1.44)
= Residual*5
= Trace

pfsArm
1 = (x=3778.24,0=121)

calEx
= (x=3778.31, 0=1.15)
e Residual*5
= Trace

Y=3684 (dx=2.4e-02, do=-8.2e-05)

Y=3930 (dx=3.4e-02, do=2.3e-02)

pfsArm
= (x=3784.16, 0=120)

calExp
= (x=3784.18, 0=120)
= Residual*5
- Trace

T pfsArm
1 = (x=3787.02, 0=1.19)
| calExp
= (x=3787.06, 0=1.22)
m—Residual*s
- Trace

3770 3780 3790 3800

3780 3790 3800
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Y=245 (dx=2.2e-02, do=3.6e-02)

f=1343, X=3771.1

Y=491 (dx=-1.8e+00, do=5.2e-01)

T pfsArm
| ™ (x=3769.39, 0=1.26)

I calExp
_x= 3769 41, 0=1.30)

e Residual*s
= Trace

A

Lo

pfsArm
= (x=3768.35,0=1.24)

calExp
— = (x=3766.56, 0=1.76)
= Residual*5

Y=736 (dx=-1.1e-03, do=-6.5e-03)

Y=1228 (dx=4.6e-02, do=-2. Te- 02)

Y=1473 (dx=7.3e-02, do=-2.3e-02)

pfsArm
= (x=3767.53, 0=1.35)
calExp
= (x=3767.53, 0=1.34)
e Residual*5
== Trace

Y=982 (dx=8.3e-02, do=-4.8e-02)

I pfsArm - I pfsArm
1 = (x=3767.14, 0=1.21) 1 = (x=3767.21, 0=121)
1 calExp 1 calExp

= (x=3767.18, 0=1.19) = (x=3767.28, 0=1.19)

e Residual*s
= Trace

= Residual*5
= Trace

Y=1719 (dx=6.4e-02, do=1.2e-03)

pfsArm
1 = (x=3767.25, 0=122)

calExp
= (x=3767.33, 0=1.17)
= Residual*5

w= Trace

pfsArm
| ™ (x=3767.46,0=124)

calExp
= (x=3767.52, 0=1.24)
= Residual*5

= Trace

Y=1965 (dx=6.0e-02, do=-3.2e-02)

1

Y=2210 (dx=5.4e-02, do=7.3e-03) Y=2456 (dx=1.0e-01, do=-1.5€-02)
I pfsArm I pfsArm
| ™ (x=3768.60, 0=1.28) | = (x=3769.52, 0=124)

calExp
= (x=3768.65, 0=1.28)

e Residual*5
w— Trace

calExp
m—(x=3769.62, 0=1.23)

e Residual*5
= Trace

Y=2702 (dx=9.3e-02, do=-1.1e-02)

pfsArm
1 = (x=3768.03, 0=1.20)

calExp
= (x=3768.09, 0=1.17)
e Residual*5

w= Trace

Y=3193 (dx=5.2e-02, do=-4.6e-02)

I pfsArm
| ™ (x=3770.59, 0=1.28)
1 calExp

= (x=3770.68, 0=1.27)
= Residual*5
- Trace

1
Y=2947 (dx=3.8e-02, do=-5.8¢-02)

T pfsArm
| = (x=3773.56,0=126)

calExp

(x=3773.61, 0=1.22)
e Residual*5
= Trace

pfsArm
= (x=3775.51, 0=124)
calExp
= (x=3775.54, 0=123)
=] == Residual*5
- Trace

Y=3684 (dx=-1.6e-02, do=4.6e-02)

I pfsArm
1 = (x=3772.04, 0=1.20)
1 calExp

(x=3772.08, 0=1.14)
e Residual*5
= Trace

pfsArm
| = (x=3777.74,0=134)

calExp
= (x=3777.72, 0=1.39)
e Residual*s
= Trace

3760 3770 3780

3760 3770 3780 3790

Y=3930 (dx=-6.6e-02, do=1.6e-01)

pfsArm
| ™ (x=3780.63, 0=127)

calExp
= (x=3780.57, 0=1.43)
m—Residual*s
- Trace

3770 3780 3790

3770 3780 3790
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Y=245 (dx=7.1e-02, do=7.5e-02)

f=1344, X=3764.9

Y=491 (dx=1.4e+00, do=4.0e-01)

pfsArm
= (x=3763.26, 0=1.16) 1
calExp
= (x=3763.33, 0=124)
| m— Residual*5
w | Trace

-1 pfsArm T
= (x=376222, 0=1.17) 1

7| == Residual*5

calExp
= (x=3763.58, 0=1.57)

= Trace

calExp
= (x=3760.97, 0=1.12)
= Residual*5

= Trace

1

Y=1228 (dx=4.7e-02, do=-3.1e-02) Y=1473 (dx=4.0e-02, do=-5.0e-02)
pfsArm I pfsArm I
= (x=3760.93, 0=1.15) 1 o = (x=3761.09, 0=1.17) 1

calExp

= (x=3761.12, 0=1.12)
e Residual*5

= Trace

Y=736 (dx=-3.7e-03, do=3.3e-02)

pfsArm T
- = (x=3761.49, 0=1.16) 1
calExp 1

= (x=3761.49, 0=1.19)
m— Residual*s
== Trace

1
Y=1719 (dx=8.1e-02, do=-4.0e-03)
pfsArm I
= (x=3761.36, 0=1.16) 1
calExp 1
= (x=3761.44, 0=1.16)

e Residual*5
= Trace

= Residual*5
w— Trace

1
Y=2210 (dx=9.4e-02, do=-1.6€-02) Y=2456 (dx=5.8e-02, do=-3.3e-02)
pfsArm I pfsArm I
= (x=3762.53, 0=1.16) 1 = (x=3763.42, 0=1.16) 1
— calExp  calExp 1
(x=3762.62, 0=1.14) . (x=3763.48, 0=1.13)

e Residual*5
w— Trace

Y=2702 (dx=6.2e-02, do=-4.8e-02)

Y=3193 (dx=1.6e-02, do=-4.8e-02)

pfsArm
= (x=3764.51, 0=1.16) 1

calExp
(x=3764.58, 0=1.11)

e Residual*5
= Trace

7| == Residual*s
= Trace

pfsArm T pfsArm
m—(x=3767.45, 0=1.16) 1 m—(x=3769.39, 0=1.16)

calExp | calExp

(x=3767.47, 0=1.12) = (x=3769.41, 0=1.14)

7| == Residual*s

= Trace

Y=3684 (dx=3.3e-02, do=1.0e-02)

pfsArm
= (x=3771.68, 0=1.16) 1

calExp

(x=3771.71, 0=1.17)
e Residual*5
= Trace

3760 3770 3780

3760 3770 3780

3760 3770 3780

Y=982 (dx=1.4e-02, do=-1.4e-02)

pfsArm T
= (x=3761.12, 0=1.17) 1
calExp 1
= (x=3761.14, 0=1.16)
m— Residual*s
== Trace

Y=1965 (dx=9.0e-02, do=5.4e-03)

pfsArm
= (x=3761.82, 0=1.15) 1
calExp
= (x=3761.91, 0=1.16)
= Residual*5
= Trace

Y=2947 (dx=1.9e-02, do=-3.0e-03)

- pfsArm I
= (x=3765.83, 0=1.15) 1
calExj

= (x=3765.85, 0=1.15)
= Residual*5
- Trace

pfsArm
= (x=3774.50, 0=1.16) 1

calExp
= (x=3774.58, 0=124)
= Residual*5
- Trace

3760 3770 3780 3790
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Y=245 (dx=-5.9e-03, do=2.7e-02)

f=1354, X=3702.9

Y=491 (dx=-2.9e-02, do=1.8e-02)

Y=736 (dx=-7.6e-03, do=-9.7e-03)

Y=982 (dx=4.9e-02, do=-2.9e-02)

T pfsArm
1 = (x=3701.09, 0=1.15)
1 calExp
= (x=3701.08, 0=1.18)
s Residual*5
- = Trace

T pfsArm
1 == (x=3700.13, 0=1.15)

1 calExp
= (x=3700.10, 0=1.17)

m— Residual*5
== Trace

T pfsArm
| ™ (x=3699.48,0=1.17)

1 calExp
= (x=3699.47, 0=1.16)

m—— Residual*5

pfsArm
1 = (x=3699.17, 0=1.15)
1 calExp
- (x=3699.21, 0=1.12)
— Residual*s
== Trace

Y=1719 (dx=7.1e-02, do=-1.4e-02)

Y=1965 (dx=7.2e-02, do=-2.2e-03)

m—— Residual*5
= Trace

1 1
Y=1228 (dx=4.9e-02, do=-3.3e-02) Y=1473 (dx=6.9¢-02, do=-2.8e-02)
I pfsArm I pfsArm
1 = (x=3699.08, 0=1.15) 1 = (x=3699.18, 0=1.15)
T I = (C;LEBXGPQQ,II 0=1.12) I — (C:I=E3)(6’399‘25, 0=1.12)

m—— Residual*5
= Trace

pfsArm
| ™ (x=3699.47,0=116)
calExp
= (x=3699.54, 0=1.15)
e Residual*5
= Trace

I pfsArm
1 = (x=3700.00, 0=1.14)
1 calExp

= (x=3700.07, 0=1.14)

m——Residual*5
= Trace

Y=2702 (dx=7.8e-02, do=-2.5e-02)

Y=2947 (dx=4.8e-02, do=-2.5€-02)

(x=3700.68, 0=1.18)
m—— Residual*5
w— Trace

1 1
Y=2210 (dx=7.2e-02, do=-1.8e-03) Y=2456 (dx=1.1e-01, do=-1.1e-02)
I pfsArm I pfsArm
| ™ (x=3700.61, 0=1.18) | = (x=3701.49,0=1.16)
T 1 e e ((:|=E3x7pm 60, 0=1.15)

m— Residual*5
= Trace

T pfsArm
| =™ (x=3702.54,0=1.18)
1 calExp

= (x=3702.62, 0=1.15)

m——Residual*5
== Trace

I pfsArm
| ™ (x=370378,0=123)

calExp
= (x=3703.82, 0=1.20)
e Residual*5
= Trace

Y=3193 (dx=4.6e-02, do=-2.1e-02)

Y=3439 (dx=1.8e-02, do=-7.4e-03)

Y=3684 (dx=1.2e-02, do=9.7e-03)

e Residual*5
| Trace

pfsArm T pfsArm
1 = (x=3705.38, 0=1.16) 1 = (x=3707.23, 0=1.15)
| calExp | calExp
= (x=3705.42, 0=1.14) = (x=3707.25, 0=1.14)

m— Residual*5

pfsArm
| = (x=3709.41, 0=1.16)

calExp
= (x=3709.42, 0=1.17)
m—Residual*5

1
Y=3930 (dx=-8.3e-03, do=5.5e-02)
T pfsArm
1 m—(x=3712.11, 0=1.15)
| — (Cxa‘:E;;lz.m, 0=1.20)

m— Residual*5
== Trace

3690 3700 3710 3720

3700 3710 3720

3700 3710 3720

3700 3710 3720
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Y=245 (dx=4.0e-02, do=5.6e-02)

f=1355, X=3696.7

Y=491 (dx=-1.9e-02, do=1.5e-02)

pfsArm T
= (x=3694.80, 0=1.19) 1

calExp
= (x=3694.84, 0=1.24)
s Residual*5

w | Trace

pfsArm
= (x=3693.85, 0=1.19) 1
calExp
- = 3693 83, 0=121)
s Residual*5
w | Trace

Y=736 (dx=5.0e-02, do=-1.7e-02)

1
Y=1473 (dx=6.8e-02, do=-4.0e-02)

pfsArm T

= (x=3693.30, 0=1.19) 1
calExp 1

= (x=3693.35, 0=1.18)

m— Residual*5 4

== Trace

pfsArm I
= (x=3692.81, 0=1.19) 1
calExp
= (x=3692.88, 0=1.15)
e Residual*5
= Trace

7| == Residual*5

pfsArm

= (x=3693.02, 0=121) 1
calExp

= (x=3693.09, 0=1.17)

i Trace

Y=2456 (dx=9.7e-02, do=-2.9e-02)

1

Y=1719 (dx= 9.6e- 02, do=-3.6e- 02)
pfsArm T
= (x=3693.30, 0=1.19) 1

calExp
— (x=3693.39, 0=1.15)
m— Residual*5
== Trace

pfsArm
= (x=3694.43, 0=1.18) 1

calExp
(x=3694.54, 0=1.16)

mm= Residual*5

w— Trace

pfsArm
= (x=3695.31, 0=1.19) 1

calExp
m—(x=3695.41, 0=1.16)
m— Residual*5
w— Trace

pfsArm T
= (x=3696.36, 0=1.18) 1
calExp

m—(x=3696.43, 0=1.15)
m— Residual*5
- Trace

pfsArm
= (x=3699.18, 0=1.19) 1

calExp

(x=3699.22, 0=1.16)
m Residual*5
w— | Trace

pfsArm
= (x=3701.03, 0=1.19) 1

calExp

(x=3701.05, 0=1.18)
m— Residual*5
| Trace

] == Trace

pfsArm
= (x=3703.19, 0=1.18)

calExp
= (x=3703.21, 0=1.18)
m— Residual*5

1
3700

3690 3710

3690 3700 3710

3690 3700 3710

Y=982 (dx=3.1e-02, do=-2.4e-02)

pfsArm T
= (x=3692.89, 0=1.20) 1
calExp
- (x=3692.92, 0=1.18)
w— Residual*s
== Trace

pfsArm
= (x=3693.74, 0=1.18) 1
calExp
= (x=3693.84, 0=1.18)
m— Residual*s
= Trace

Y=2947 (dx=6.1e-02, do=-3.8e-02)

- pfsArm I
= (x=3697.60, 0=1.18) 1
calEx|

m—(x=3697.66, 0=1.15)
m— Residual*5
- Trace

pfsArm
= (x=3705.80, 0=1.18) 1

calExp
= (x=3705.78, 0=1.23)
—| === Residual*5
= Trace

3690 3700 3710 3720
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Y=245 (dx=-1.2e-01, do=9.3e-02)

f=1360, X=3665.6

Y=491 (dx=-1.2e-02, do=3.2e-02)

Y=736 (dx=5.7e-02, do=-1.1e-02)

T pfsArm
| ™ (x=3663.70, 0=1.15)

1 calExp
= (x=3663.58, 0=1.24)

e Residual*s
= Trace

T pfsArm
| ™ (x=3662.80, 0=1.14)

calExp
- (x=3662.79, 0=1.17)

e Residual*5
== Trace

T pfsArm
1 = (x=3662.26, 0=1.13)

1 calExp
= (x=3662.31, 0=1.12)

= Residual*5
== Trace

Y=1719 (dx=7.1e-02, do=8.1e-04)

1
Y=1228 (dx=6.3e-02, do=-1.3e-02) Y=1473 (dx=6.7e-02, do=-3.0e-03)
I fsArm I pfsArm
| = (x=3661.84,0=1.14) 1 = (x=3662.01, 0=1.13)
I r— (C;LEBXGPGI.QD, 0=1.13) I — (C:LE;G,JSZ‘OE, 0=1.13)

e Residual*5
= Trace

e Residual*5
= Trace

T
1

pfsArm
| ™ (x=3662.32,0=113)
calExp
= (x=3662.39, 0=1.13)
= Residual*5
= Trace

Y=2210 (dx=1.2e-01, do=3.0e-03)

Y=2456 (dx=1.0e-01, do=-1.6e-02)

T pfsArm pfsArm
| ™ (x=3663.46,0=1.13) | ™ (x=3664.31,0=1.13)
1 calExp 1 calExp

- (x=3663.58, 0=1.13) — (x=3664.42, 0=1.11)

e Residual*5
w— Trace

e Residual*5
= Trace

H .
1

Y=2702 (dx=8.3e-02, do=-1.3e-02)
I pfsArm
| ™ (x=366535,0=113)
I r— (c:f;gss.u, 0=1.12)

e Residual*s
== Trace

Y=3193 (dx=8.0e-02, do=-1.5€-02)

Y=3439 (dx=2.6e-02, do=-1.5e-02)

Y=3684 (dx=2.2e-02, do=2.7e-02)

pfsArm
1 = (x=3668.11, 0=1.13)

calExp

(x=3668.19, 0=1.11)
e Residual*5
| Trace

T pfsArm
| ™ (x=3669.86, 0=1.13)

| calExp

(x=3669.89, 0=1.12)
e Residual*5
= Trace

pfsArm
1 = (x=3672.03, 0=1.13)

calExp
= (x=3672.05, 0=1.16)
e Residual*s
= Trace

3660 3670 3680

3660 3670 3680

3660 3670 3680

Y=982 (dx=6.4e-03, do=-3.5e-02)

pfsArm
| ™ (x=3661.91,0=1.14)

calExp
= (x=3661.91, 0=1.11)

e Residual*5
== Trace

1
Y=1965 (dx=7.8e-02, do=-1.5e-02)
7 I fsArm
| ™ (x=366278,0=1.13)
1 — (Cffzxgez‘ae, 0=1.12)

e Residual*5
= Trace

1
Y=2947 (dx=6.9e-02, do=-2.4e-02)
1 I pfsArm
| ™ (x=3666.59, 0=1.13)
1 calExp

— (x=3666.66, 0=1.11)
e Residual*5
- Trace

Y=3930 (dx=-5.5e-02, do=6.9e-02)

pfsArm
| = (x=3674.59, 0=1.13)

calExp
= (x=3674.54, 0=120)
m—Residual*s
- Trace

3660 3670 3680 3690
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Y=245 (dx=1.0e-02, do=4.3e-02)

f=1380, X=3541.5

Y=491 (dx=1.0e-03, do=3.5e-03)

Y=736 (dx=4.4e-02, do=-1.8e-02)

Y=982 (dx=6.1e-02, do=-1.6e-02)

T pfsArm
| ™ (x=3539.45,0=1.13)

1 calExp
= (x=3539.46, 0=1.18)

e Residual*s

T pfsArm
| ™ (x=353874,0=1.14)

1 calExp
= (x=3538.74, 0=1.14)

e Residual*5
== Trace

T pfsArm
| ™ (x=353831,0=113)

1 calExp
= (x=3538.36, 0=1.11)

= Residual*5
== Trace

T pfsArm
1 = (x=3538.12, 0=1.14)

1 calExp
= (x=3538.18, 0=1.12)

e Residual*5
== Trace

Y=1719 (dx=5.9e-02, do=-5.9e-03)

Y=1965 (dx=1.1e-01, do=1.0e-02)

1
Y=1228 (dx=5.1e-02, do=-3.2e-03) Y=1473 (dx=9.6e-02, do=3.3e-03)
I pfsArm I pfsArm
1 = (x=3538.12, 0=1.14) 1 = (x=353827, 0=1.14)
1 o calExp 1  calExp
(x=3538.17, 0=1.14) = (x=3538.37, 0=1.14)

e Residual*5
= Trace

e Residual*5
= Trace

pfsArm
| ™ (x=3538.59, 0=1.14)
1 calExp
= (x=3538.65, 0=1.13)
= Residual*5
= Trace

I pfsArm
1 = (x=3539.10, 0=1.13)
1 calExp

= (x=3539.21, 0=1.14)

e Residual*5
= Trace

Y=2702 (dx=8.7e-02, do=-2.1e-02)

1

Y=2210 (dx=6.3e-02, do=4.2e-02) Y=2456 (dx=1.4e-01, do=3.4e-03)
I pfsArm pfsArm
| ™ (x=3539.70,0=113) | ™ (x=3540.51,0=1.13)
1 e T [ ((fgspdo 65, 0=1.14)

m—(x=3539.76, 0=1.17)
= Residual*5
- Trace

e Residual*5
= Trace

pfsArm

| = (x=3541.48,0=1.13)
1 calExp

= (x=3541.57, 0=1.11)

e Residual*s
== Trace

1

Y=2947 (dx=1.0e-01, do=4.5e-03)
I pfsArm
| ™ (x=3542.62,0=1.14)
1 [ (?3&2.72,0:1.14)

e Residual*5
== Trace

Y=3684 (dx=3.3e-02, do=5.0e-03)

Y=3930 (dx=-3.1e-03, do=4.7e-02)

1

Y=3193 (dx=4.7e-02, do=1.1e-02) Y=3439 (dx=4.0e-02, do=-2.9e-02)
T pfsArm i pfsArm
| = (x=3543.98,0=1.13) | = (x=3545.60, 0=1.14)
I r— ;:EI:E;SP[IAOZ, 0=1.14) I — (c:I:E;SleS 64, 0=1.11)

e Residual*5
| Trace

e Residual*5
= Trace

pfsArm
| ™ x=3547.52,0=1.14)

| calExp

= (x=3547.55, 0=1.14)
= Residual*5
- Trace

pfsArm T
= (x=3549.83, 0=1.13) 1

calExp |
= (x=3549.83, 0=1.18)

e Residual*5
= Trace

3530 3540 3550
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Y=245 (dx=1.4e-01, do=-9.8e-03)

f=1417, X=3312.4

Y=491 (dx=5.8e-02, do=5.4e-03)

e Residual*s
= Trace

pfsArm pfsArm
1 = (x=3310.02, 0=1.13) | = (x=3309.56, 0=1.14)
1 calExp 1 calExp
= (x=3310.16, 0=1.12) = (x=3309.62, 0=1.14)

e Residual*5
== Trace

Y=736 (dx=5.4e-02, do=-6.6e-03)

Y=982 (dx=7.9e-02, do=-2.5e-02)

pfsArm
. | ™ (x=3309.34,0=113)

1 calExp
= (x=3309.40, 0=1.13)

= Residual*5
== Trace

pfsArm
| ™ (x=330929, 0=114)

1 calExp
= (x=3309.36, 0=1.11)
m— Residual*5
== Trace

Y=1228 (dx=9.4e-02, do=-2.0e-02)

Y=1473 (dx=7.6e-02, do=1.1e-02)

pfsArm
| =™ x=3300.36,0=1.14)

1 calExp
m T (x=3309.46, 0=1.12)

e Residual*5

pfsArm
| = (x=3309.57,0=1.14)

calExp
= (x=3309.65, 0=1.15)
= Residual*5

= Trace

- e Residual*5
w— Trace

1
Y=2210 (dx=9.4e-02, do=3.0e-02) Y=2456 (dx=9.1e-02, do=4.3e-02)
I pfsArm I pfsArm
| ™ (x=3310.92,0=1.17) | = (x=3311.66,0=1.15)
I — ((:B?n.oz, 0=1.20) l — ((:LE;;H 75, 0=1.20)

e Residual*5
= Trace

calExp
- (x=3314.71, 0=1.14)
= Residual*5
= Trace

1

Y=3193 (dx=7.2e-02, do=-1.0e-02) Y=3439 (dx=8.4e-02, do=-1.5e-02)
T pfsArm T pfsArm
| = (x=3314.64, 0=1.15) 1 = (x=3316.03, 0=1.14)

calExp
= (x=3316.12, 0=1.12)

e Residual*5
= Trace

T

3300 3310 3320

3330 3300 3310 3320 3330

Y=1719 (dx=9.9e-02, do=-1.2e-02)

Y=1965 (dx=1.2e-01, do=2.1e-03)

I fsArm
| ™ (x=3309.88,0=117)
1 calExp

= (x=3309.98, 0=1.16)

e Residual*5
= Trace

pfsArm
| ™ (x=3310.38,0=1.14)

calExp
= (x=3310.50, 0=1.14)
e Residual*5

== Trace

Y=2702 (dx=1.1e-01, do=8.7e-03)

pfsArm
| = (x=331251,0=114)

calExp
= (x=3312.62, 0=1.15)
= Residual*5
= Trace

1

Y=2947 (dx=8.3e-02, do=-2.1e-02)
I pfsArm
| ™ (x=3313.50,0=1.14)
1 calExp

— (x=3313.58, 0=1.12)
e Residual*5

Y=3684 (dx=6.8e-02, do=1.7e-02)

Y=3930 (dx=1.3e-01, do=8.8e-02)

pfsArm
| = (x=3317.56, 0=1.14)

| calExp

= (x=3317.63, 0=1.16)
e Residual*s

= Trace

pfsArm
| = (x=3319.45,0=1.14)

calExp

(x=3319.58, 0=1.23)
e Residual*5
== Trace

3310 3320 3330

3310 3320 3330




f=1452, X=3095.9
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Y=245 (dx=3.2e-01, do=-1.4e-01)

f=1452, X=3095.9

Y=491 (dx=8.9e-02, do=-5.2e-02)

Y=736 (dx=1.9e-01, do=-3.3e-02)

Y=982 (dx=8.4e-02, do=8.8e-03)

pfsArm
| ™ (x=3093.36,0=1.12)

calExp
= (x=3093.68, 0=0.98)
e Residual*s
= Trace

l

T pfsArm
1 = (x=3093.15, 0=1.12)

1 calExp
= (x=3093.24, 0=1.07)

e Residual*5

== Trace

T pfsArm
1 = (x=3093.07, 0=1.12)
1 calExp
= (x=3093.27, 0=1.09)
— Residual*s
== Trace

T pfsArm
1 = (x=3093.11, 0=1.12)
1 calExp
= (x=3093.19, 0=1.13)
m—_Residual*5
== Trace

Y=1228 (dx=8.3e-02, do=-1.9e-02)

Y=1473 (dx=1.2e-01, do=3.0e-02)

Y=1719 (dx=7.8e-02, do=2.0e-02)

Y=1965 (dx=6.1e-02, do=3.0e-03)

I pfsArm pfsArm
1 = (x=3093.25, 0=1.12) | = (x=3093.49,0=112)
1 calExp 1 calExp

= (x=3093.33, 0=1.10) = (x=3093.60, 0=1.15)

e Residual*5
= Trace

e Residual*5
= Trace

I pfsArm
| ™ (x=309382,0=113)

calExp
= (x=3093.90, 0=1.15)
= Residual*5

== Trace

pfsArm
| ™ (x=309429,0=112)
1 calExp
= (x=3094.35, 0=1.12)
e Residual*5
= Trace

Y=2210 (dx=8.2e-02, do=2.0e-02)

Y=2456 (dx=5.5e-02, do=1.6e-02)

Y=2702 (dx=7.5e-02, do=-1.8e-02)

Y=2947 (dx=1.2e-01, do=-1.3e-02)

I pfsArm

pfsArm

| ™ (x=3094.80, 0=1.12) | ™ (x=3095.45,0=1.12)
1 calExp 1 calExp

= (x=3094.88, 0=1.14) = (x=3095.51, 0=1.13)

e Residual*5
w— Trace

e Residual*5
= Trace

pfsArm

1 = (x=3096.21, 0=1.11)
1 calExp

= (x=3096.28, 0=1.10)

e Residual*s
== Trace

pfsArm

1 = (x=3097.08, 0=1.11)
1 calExp

= (x=3097.20, 0=1.10)

e Residual*5
== Trace

T
1

Y=3193 (dx=8.2e-02, do=-4.7e-02)

Y=3439 (dx=6.4e-02, do=-8.3e-03)

Y=3684 (dx=4.5e-02, do=-4.3e-02)

Y=3930 (dx=1.8e-01, do=-1.9e-02)

T pfsArm
1 = (x=3098.06, 0=1.11)

| calExp

= (x=3098.14, 0=1.06)
= Residual*5
= Trace

T pfsArm
1 = (x=3099.19, 0=1.11)

| calExp

(x=3099.25, 0=1.10)
e Residual*5
= Trace

pfsArm
| ™ x=3100.48, 0=1.11)

calExp
= (x=3100.52, 0=1.07)
e Residual*s
= Trace

T pfsArm
1 = (x=3102.05, 0=1.11)
| calExp

= (x=3102.23, 0=1.09)

e Residual*5
== Trace

3090 3100 3110

3090 3100 3110

3090 3100 3110

3090 3100 3110




4000

3500

3000

2500

ix)

Q.

< 2000
1500
1000
500

0
3050

calexp

3060

- 500

- 400

300

200

100

glOO

Residual

IIFIIIH“LIIIII

il IIIII I"II Ll IIIIlI| L
hlllllllullﬁ 1

III I IIIIIII hllllﬁ'l II;

i !

- 40

- 20

- —20

3060
X (pix)

3050

—40

f=1458, X=3058.7

Chi

= 4
==
= %E =
== =53 -0
_E_E g_
e |
-4

Shift measure

Chi

e ————

Chi+ - Chi-

0 10
Chi at each row

4000

3500

3000

2500

2000

1500

1000

500



Y=245 (dx=8.7e-02, do=1.0e-01)

f=1458, X=3058.7

Y=491 (dx=6.1e-02, do=5.1e-02)

pfsArm pfsArm
1 = (x=3056.22, 0=1.12) 1 = (x=3056.05, 0=1.12)
1 calExp 1 calExp

= (x=3056.31, 0=1.23)

= (x=3056.11, 0=1.18)
m— Residual*s
== Trace

Y=1228 (dx=1.8e-02, do=7.2e-04)

Y=1473 (dx=1.0e-01, do=-9.6e-03)

pfsArm
1 = (x=3056.19, 0=1.13)
1 calExp

= (x=3056.21, 0=1.13)

= Residual*5

= Trace

pfsArm
| ™ (x=3056.43,0=1.12)

1 calExp
- = (x=3056.53, 0=1.11)
e Residual*5

Y=2456 (dx=1.1e-01, do=1.1e-02)

1
Y=2210 (dx=1.2e-01, do=1.6e-02)
| ?:igromsma, 0=1.12)
1 calExp

m—(x=3057.85, 0=1.14)
= Residual*5
- Trace

pfsArm
| =™ (x=3058.39 0=111)

1 calExp
m—(x=3058.50, 0=1.12)

e Residual*5

Y=3193 (dx=8.4e-02, do=-1.0e-02)

Y=3439 (dx=1.2e-01, do=-5.0e-02)

T pfsArm T pfsArm
| = (x=3060.88,0=1.12) 1 = (x=3062.03, 0=1.11)
| calExp | calExp

= (x=3060.96, 0=1.11) = (x=3062.15, 0=1.06)

e Residual*5

= Trace

e Residual*5
= Trace

3050 3060 3070

3050 3060 3070

Y=736 (dx=7.1e-02, do=-4.8e-02)

Y=982 (dx=1.0e-01, do=-2.0e-02)

pfsArm
| ™ (x=3055.92,0=114)

— 1 calExp

= (x=3055.99, 0=1.10)

e Residual*5

== Trace

T pfsArm
1 = (x=3056.04, 0=1.12)
1 calExp

= (x=3056.14, 0=1.10)
m— Residual*5
== Trace

1
Y=1719 (dx=8.1e-02, do=-6.1e-03)

Y=1965 (dx=7.6e-02, do=1.9e-02)

- pfsArm

| ™ (x=3056.76, 0=1.13)

calExp
= (x=3056.84, 0=1.12)
= Residual*5
== Trace

I pfsArm
1 = (x=3057.23, 0=1.12)
1 calExp
= (x=3057.31, 0=1.14)
e Residual*5
= Trace

Y=2702 (dx=9.0e-02, do=-2.8e-02)

Y=2947 (dx=1.1e-01, do=-2.0e-03)

pfsArm
. 1 = (x=3059.12, 0=1.12)
1 calExp
= (x=3059.21, 0=1.09)

e Residual*s

Y=3684 (dx=1.2e-01, do=-5.6e-02)

pfsArm
| ™ (x=3059.91,0=1.13)
1 calExp

= (x=3060.03, 0=1.12)
e Residual*5
- Trace

Y=3930 (dx=1.1e-01, do=9.5e-03)

T pfsArm pfsArm
1 = (x=3063.28, 0=1.11) | = (x=3064.75,0=1.12)
| calExp | calExp
= (x=3063.40, 0=1.05) = (x=3064.86, 0=1.13)
m—Residual*5 m—Residual*s
-1 = Trace -

3050 3060 3070

3050 3060 3070 3080
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Y=245 (dx=6.9e-02, do=6.3e-02)

f=1867, X=604.4

Y=491 (dx=9.9e-02, do=2.0e-02)

= (x=602.95, 0=1.19)
mm Residual*5
== Trace

pfsArm pfsArm
1 = (x=602.89, 0=1.13) - 1 = (x=604.07, 0=1.13)
_ 1 calExp calExp

= (x=604.17, 0=1.15)
s Residual*5
w | Trace

Y=1228 (dx=-2.4e-02, do=-2.3e-02)

1
Y=1473 (dx=-8.5e-03, do=-1.6e-02)

T pfsArm - T pfsArm
1 = (x=606.04, 0=1.13) 1 = (x=606.34, 0=1.13)
1 calExp 1 calExp

. = (x=606.01, 0=1.11) = (x=606.33, 0=1.12)

mm Residual*5
= Trace

m—— Residual*5
= Trace

- m—Residual*5
= Trace

1

Y=2210 (dx=-3.0e-02, do=-3.8e-03) Y=2456 (dx=-5.2e-02, do=-7.5e-03)
I pfsArm . I pfsArm
1 = (x=606.40, 0=1.14) 1 = (x=606.13, 0=1.14)
I — (C;‘:EggG 37, 0=1.13) I [r— SI:E(;((?G.OB, 0=1.13)

m— Residual*5
w— Trace

Y=3193 (dx=-3.8e-02, do=-6.1e-03)

1
Y=3439 (dx=-1.8e-02, do=3.7e-03)

e Residual*5
== Trace

. T pfsArm T T pfsArm
1 = (x=604.28, 0=1.14) 1 = (x=603.24, 0=1.15)

| calExp | calExp
= (x=604.24, 0=1.14) = (x=603.22, 0=1.15)

mm—Residual*5
= Trace

590 600 610 620

590 600 610

Y=736 (dx=5.0e-02, do=-1.4e-02)

T pfsArm
| ™ (x=604.87, 0=1.13)

1 calExp
- (x=604.92, 0=1.12)

- w— Residual*5

= Trace

pfsArm
T 1 == (x=605.53, 0=1.13)

Y=1719 (dx=-2.5e-02, do=-1.2e-02)

I pfsArm
1 = (x=606.49, 0=1.13)
1 calExp

= (x=606.47, 0=1.12)

m—— Residual*5
- w— Trace

Y=2702 (dx=-4.7e-02, do=-2.2e-02)

pfsArm
1 = (x=605.67, 0=1.13)
1 calExp

m—(x=605.62, 0=1.11)
m—— Residual*5
| Trace

Y=3684 (dx=-1.5e-02, do=3.0e-02)

pfsArm
| = (x=601.85, 0=1.13)

calExp
= (x=601.84, 0=1.16)
m—— Residual*5
= Trace

590 600 610

Y=982 (dx=3.4e-02, do=-1.7e-02)
T

1 calExp
= (x=605.56, 0=1.11)

m— Residual*5
== Trace

Y=1965 (dx=-3.6e-02, do=4.7e-03)

T pfsArm
1 == (x=606.51, 0=1.13)
1 calExp

. = (x=606.48, 0=1.14)
- m— Residual*s
= Trace

Y=2947 (dx=-4.6e-02, do=-1.7e-02)
T

- pfsArm
1 m—(x=605.09, 0=1.14)

1 calExp
- (x=605.05, 0=1.13)

m—— Residual*5
== Trace

Y=3930 (dx=-1.2e-02, do=6.8e-02)

- T pfsArm
1 = (x=600.19, 0=1.15)

| calExp
= (x=600.18, 0=1.21)

m— Residual*5
= Trace

590 600 610
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Y=245 (dx=-8.7e-01, do=-3.0e-01)

f=1871, X=579.6

Y=491 (dx=-3.2e-01, do=2.8e-02)

pfsArm
= (x=577.36, 0=2.07)

calExp
= (x=576.49, 0=1.76)
m— Residual*5

== Trace
-

Pl

E o= — = — ==

N T pfsArm
1 = (x=578.21, 0=2.16)
1 calExp
_(x= 577 89, 0=2.19)

e Residual*s

Y=1228 (dx=-2.5e-01, do=-1.7e-01)

Y=1473 (dx=7.8e-02, do=-1.4e-02)

pfsArm
== (x=580.25, 0=2.13)

calEx
= x= 530 00, 0=1.96)

e Residual*5

I = Trace
1

HrntF- L

_=;—_',

pfsArm
= (x=579.59, 0=2.02)

calEx
_ (x= 579 67, 0=2.01)
e Residual*s

= Trace

o 1 |

it

Y=2210 (dx=6.1e-02, do=-3.3e-02)

Y=2456 (dx=2.6e-02, do=-6.0e-02)

pfsArm
= (x=579.59, 0=1.99)

calExp
== (x=579.65, 0=1.96)

e Residual*s
== Trace

=

pfsArm
= (x=579.95, 0=2.09)

T

|

1 calExp
m—(x=579.98, 0=2.03)

I wmmm Residual*s

|

|

|

== Trace

|

=1

Y=3193 (dx=-3.8e-03, do=-1.2e-01)

Y=3439 (dx=-7.8e-02, do=-1 .2e-01)

570 580 590

L T pfsArm T pfsArm
1 = (x=577.74, 0=2.06) 1 = (x=576.76, 0=2.11)
1 calExp T 1 calExp
_—(x= 57773 0=1.94) - (x= 57668 0=1.99)

1 m— Residual*s 1 s Residual*s

1 = Trace 1 = Trace

1 - :L 1
1
]

r'q.l_ - - 4 -t =g -
|_l -
T

Y=736 (dx=-3.6e-01, do=-1.9e-01)

pfsArm
= (x=579.26, 0=2.17)

calEx
= 376. 90, 0=1.98)
e Residual*s
= Trace

pfsArm
== (x=579.38, 0=1.93)

calExp
_(x= 579 50, 0=1.97)

_ﬁ -
e Residual*5

1 T
Y=1719 (dx=1.2e-01, do=4.7e-02)
T
1
1
|
1 - Trace
1
1
1

Y=2702 (dx=5.1e-02, do=-6.8e-05)

pfsArm
= (x=577.97, 0=1.70)

calExp
(x=578.02, 0=1.70)

e Residual*5

w | Trace

Y=3684 (dx=-1.2e-01, do=-9.3e-02)

pfsArm
= (x=573.98, 0=1.71)

calEx
1 x= 57385 0=1.61)
e Residual*5
= Trace

ﬁ%

560 570 580 590

Y=982 (dx=7.9e-02, do=-4.5e-02)

T pfsArm
== (x=578.47, 0=1.95)
calExp
- = (x=578.55, 0=1.91)
e Residual*s
== Trace
. - -

Y=1965 (dx=6.6e-02, do=-8.3e-02)

I pfsArm
== (x=579.43, 0=1.94)
N calExp
= (x=579.49, 0=1.86)
e Residual*5
== Trace
- -

Y= (dx=1. de- 01, do=-9.0e- 02)

I pfsArm
1 = (x=579.01, 0=2.13)
1 calExp

(x=579.15, 0=2.04)
I e Residual*5
= Trace

Y=3930 (dx=-2.3e-01, do=-1.3e-01)

T pfsArm
1 = (x=574.18, 0=2.10)
| calExp
. — 257,95, 0=1.97)
I wems Residual*5
1 = Trace
-
.,
. b o o
l
- 1 -I
T T T

560 570 580 590



4000

3500

3000

2500

ix)

e

< 2000
1500
1000

500

calexp

A

570 580

- 400

300

200

100

=100

Residual

570 580
X (pix)

I-60

- 40

- 20

-40

-60

-80

f=1872, X=573.4

T

|II III II
WL

IIIIIII IIIIIIIII | IIII

| IIIII|IlIII

III [IIIII f II | II II”III |IIII IIIHI Il IIII|II [} Illl*llll III Illill e ! IIIF Illll i

il

PR
|

IIIIII e

l
I1IILIII Ill IIIIH

Ll

TR T

|
|
1

570

580

-6

Shift measure

Chi+ - Chi-

=5 0 5

-2 0 2
Chi at each row

4000

3500

3000

2500

2000

1500

1000

500



Y=245 (dx=1.7e-03, do=6.2e-02)

f=1872, X=573.4

Y=491 (dx=9.5e-02, do=1.6e-02)

= (x=571.81, 0=1.20)
— Residual*s
w Trace

pfsArm pfsArm
1 = (x=571.81, 0=1.14) 1 = (x=573.04, 0=1.12)
1 calExp 1 calExp

= (x=573.14, 0=1.13)
m—Residual*5
== Trace

. = (x=573.92, 0=1.12)

= (x=575.07, 0=1.11)
m—Residual*5
- - Trace

1
Y=1228 (dx=-1.6e-03, do=-1.2e-02) Y=1473 (dx=1.9e-03, do=-2.6e-02)
I pfsArm I pfsArm
1 = (x=575.07, 0=1.12) 1 1 = (x=575.38, 0=1.12)
1 calExp 1 calExp

= (x=575.38, 0=1.10)
mm Residual*5
== Trace

I pfsArm
1 = (x=575.54, 0=1.13)

— 1 calExp
= (x=575.50, 0=1.11)

m——Residual*5
== Trace

1

Y=2210 (dx=-4.0e-02, do=-1.3e-02) Y=2456 (dx=-7.6e-02, do=-1.6e-03)
I pfsArm I pfsArm
1 = (x=575.43, 0=1.13) 1 = (x=575.16, 0=1.13)
I r— (cf‘fs);ps.zg, 0=1.12) . I r— (C;‘:E5X7p5 08, 0=1.13)

mmResidual*5
= Trace

. = (x=574.62, 0=1.12)

Y=3193 (dx=-2.6e-02, do=-3.0e-02)

Y=3439 (dx=-2.5e-02, do=7.6e-04)

e Residual*5

pfsArm pfsArm
1 = (x=573.24, 0=1.13) 1 = (x=572.16, 0=1.13)
| calExp | calExp
. = (x=573.21, 0=1.10) T = (x=572.13, 0=1.13)

mm—Residual*5
= Trace

560 570 580

560 570 580

Y=736 (dx=6.2e-02, do=-1.9e-02)

T pfsArm
1 = (x=573.86, 0=1.14)
1 calExp

w—— Residual*5
= Trace

1
Y=1719 (dx=-4.0e-02, do=-1.9e-02)

m—— Residual*5
= Trace

T pfsArm
1 = (x=575.56, 0=1.13)

— 1 calExp
= (x=575.51, 0=1.11)

1
Y=2702 (dx=-5.5e-02, do=-1.9e-02)

T pfsArm
1 = (x=574.67, 0=1.14)
1 calEx

mm— Residual*5
w— Trace

. = (x=574.02, 0=1.11)

Y=3684 (dx=1.6e-02, do=4.2e-03)

pfsArm
1 = (x=570.73, 0=1.14)
| calExp

= (x=570.74, 0=1.14)

mm Residual*5
w— | Trace

560 570 580

Y=982 (dx=2.3e-02, do=-2.8e-02)

pfsArm
1 = (x=574.55, 0=1.13)

1 calExp
= (x=574.57, 0=1.10)

m— Residual*5
== Trace

Y=1965 (dx=-4.5e-02, do=-1.8e-02)

m—— Residual*5
= Trace

1

Y=2947 (dx=-5.8e-02, do=-1.9e-02)
T
1 = F:S:\srxn.oa, 0=1.13)
1 calExp

m—— Residual*5
= Trace

1
Y=3930 (dx=-9.4e-03, do=>5.3e-02)

pfsArm
1 = (x=569.01, 0=1.13)
| calExp

= (x=569.00, 0=1.18)

m— Residual*5
= Trace

560 570 580
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Y=245 (dx=7.4e-02, do=1.2e-01)

f=1881, X=517.6

Y=491 (dx=8.9e-02, do=5.4e-02)

Y=736 (dx=6.4e-02, do=1.7e-02)

pfsArm pfsArm
| = (x=515.82,0=1.28) 1 = (x=517.21, 0=1.15)
1 calExp _ 1 calExp

= (x=515.89, 0=1.41)
— Residual*s
== Trace

= (x=517.30, 0=121)
e Residual*5
== Trace

pfsArm
1 === (x=518.15, 0=1.15)

calExp
= (x=51821, 0=1.16)

w— Residual*5

Y=1228 (dx=3.6e-02, do=-3.1e-02)

Y=1473 (dx=1.7e-02, do=-2.7e-02)

T pfsArm -1 T pfsArm
1 = (x=519.36, 0=1.17) 1 = (x=519.64, 0=1.22)
1 calExp 1 calExp

= (x=519.40, 0=1.14)
mmResidual*5
== Trace

= (x=519.66, 0=1.19)
w— Residual*5
= Trace

1
Y=1719 (dx=1.6e-02, do=-3.3e-02)
T
1 = r;sjsr{ns.n, 0=127)

1 calExp
= (x=519.79, 0=1.23)
w— Residual*5
= Trace

1
Y=2210 (dx=-1.1e-02, do=1.9e-03) Y=2456 (dx=-2.2€-02, do=1.0e-02)
I pfsArm I pfsArm
1 = (x=519.68, 0=124) 1 = (x=519.43, 0=1.18)
1 calExp — 1 calEx,

(x=519.67, 0=1.24)
m——Residual*5
= Trace

m—(x=519.40, 0=1.20)
m— Residual*5

1

Y=2702 (dx=6.1e-03, do=-2.7e-02)
T
| F:i/;rlma.s1, 0=1.31)
1 calExp

(x=518.82, 0=1.28)
m—— Residual*5
| Trace

1
Y=3193 (dx=3.9e-03, do=8.0e-03) Y=3439 (dx=-6.2e-03, do=8.1e-03)
T pfsArm T pfsArm
1 = (x=517.39, 0=1.18) 1 = (x=516.25, 0=1.17)
| calExp =1 | calExp
(x=517.39, 0=1.19) (x=516.24, 0=1.18)

mm—Residual*5
= Trace

mm—Residual*5

1
Y=3684 (dx=3.2e-03, do=4.7e-02)
T
1 = Fii’*s'ﬂes, 0=1.24)
| e calExp
(x=514.69, 0=1.29)

mm Residual*5
w— | Trace

510 520 530

500 510 520 530

500 510 520 530

1 | = (x=518.80, 0=1.25)

1

Y=1965 (dx=-7.5e-03, do=-3.2e-03)
T

- 1 — ?;i?e.w, 0=1.27)

Y=982 (dx=4.9e-02, do=4.6e-03)
T

pfsArm
1 = (x=518.75, 0=1.25)

calExp

m— Residual*5

== Trace

1 calExp
= (x=519.78, 0=1.27)
m— Residual*5

1
Y=2947 (dx=-1.5e-02, do=-2.7e-02)

pfsArm
1 = (x=518.29, 0=1.17)
1 calExp

(x=518.28, 0=1.15)
m—— Residual*5
= Trace

Y=3930 (dx=-2.9e-02, do=8.5e-02)

pfsArm
1 = (x=512.77, 0=127)

calExp
= (x=512.74, 0=1.36)
m—— Residual*5

500 510 520
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Y=245 (dx=1.1e-01, do=2.5e-02)

f=1882, X=511.4

Y=491 (dx=1.4e-01, do=4.7e-02)

pfsArm T
= (x=509.73, 0=1.19) 1

calExp 1
= (x=509.83, 0=1.21)
_| = Residual*s
== Trace

7| == Residual*s

pfsArm
= (x=511.07, 0=1.20) 1

calExp
= (x=51122, 0=1.24)

= Trace

= (x=511.91, 0=1.19)

Y=1228 (dx=5.2e-02, do=-4.6e-02)

= Residual*5
—| == Trace

pfsArm I pfsArm I
= (x=513.24, 0=1.19) 1 - = (x=513.54, 0=1.19) 1
calExp 1 calExp
= (x=513.29, 0=1.15) = (x=513.56, 0=1.15)

= Residual*5
= Trace

calExp
| = (x=513.70, 0=1.16)

calExp
= (x=513.55, 0=1.18)
= Residual*5

w— Trace

p
| = (x=513.29, 0=1.18)

1

Y=2210 (dx=-3.9e-02, do=-1.1e-02) Y=2456 (dx=-1.8e-02, do=-1.1e-02)
T T
S R F:Sg{na 59, 0=1.19) 1 — fﬁiﬁ'ﬂ.al,m 19) 1

calEx

e Residual*5
w— Trace

= Residual*5
w— | Trace

1 1
Y=3193 (dx=2.4e-02, do=-3.1e-02) Y=3439 (dx=-1.0e-02, do=-4.1e-02)
pfsArm T pfsArm T
— (x=511.26, 0=1.19) I m—(x=510.11, 0=1.20) I
e calExp | e calExp
(x=511.28, 0=1.16) - (x=510.10, 0=1.16)

e Residual*5
| Trace

500 510 520

Y=736 (dx=-2.7e+00, do=7.8e-01)

pfsArm
calExp
= (x=509.24, 0=1.97)

wm— Residual*s
== Trace

pfsArm
(x=513.70, 0=1.19)

e Residual*5
= Trace

1
Y=2702 (dx=-4.1e-02, do=-3.0e-02)
T
= F:S:Srlmz.m, 0=1.19) 1
calExp

(x=512.72, 0=1.16)
e Residual*5
= Trace

pfsArm
= (x=508.57, 0=1.19)
calExp
= (x=508.58, 0=1.22)
= Residual*5
- Trace

500 510 520

| = (x=512.13, 0=1.15)

i [k
- = (x=506.66, 0=1.19) 1

Y=982 (dx=5.8e-02, do=-3.2e-02)

pfsArm T
= (x=512.66, 0=1.19) 1

calExp
= (x=512.71, 0=1.16)
s Residual*s
== Trace

pfsArm
= (x=513.71, 0=1.19)
calExp
= (x=513.71, 0=1.17)
= Residual*5
= Trace

1
Y=2947 (dx=-3.9e-02, do=-4.5e-02)
T
= E):S:;Tz.le, 0=1.19) 1
calEx|

e Residual*5
= Trace

Y=3930 (dx=4.1e-03, do=6.4e-02)

pfsArm

calExp |
= (x=506.66, 0=1.26)

= Residual*5

= Trace

490 500 510 520
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Y=245 (dx=1.4e-01, do=4.5e-02)

f=1889, X=468.0

Y=491 (dx=1.2e-01, do=3.2e-02)

_(x= 466 36, 0=1.16)
w— Residual*5
== Trace

pfsArm -1 pfsArm
1 = (x=466.22, 0=1.12) 1 = (x=467.52, 0=1.12)
1 calExp calExp

= (x=467.64, 0=1.15)
— Residual*s
w | Trace

T pfsArm
- 1 = (x=468.52, 0=1.12)
| calExp

Y=1228 (dx=5.9e-02, do=-1.3e-02)

Y=1473 (dx=2.8e-03, do=-1.1e-02)

I pfsArm
1 = (x=470.37, 0=1.12)

i 1 calExp
= (x=470.36, 0=1.12)

I pfsArm I pfsArm
1 = (x=469.80, 0=1.12) _ 1 = (x=470.19, 0=1.12)
1 calEx 1 calExp
_—(x= "y 86, 0=1.11) = (x=470.19, 0=1.11)
e Residual*5 e Residual*5
- Trace | = Trace
1 |
|
1
T I| T T |I T
Y=2210 (dx=-2.4e-02, do=2.7e-02) Y=2456 (dx=4.3e-03, do=-1.9e-03)
pfsArm T T pfsArm
= (x=47024, 0=1.13) | = (x=469.87,0=1.13)
calExp 1 calExp
= (x=470.21, 0=1.15) _ = (x=469.88, 0=1.12)
e Residual*5 = Residual*5
= Trace - Trace
|
|
1

Y=3193 (dx=-1.7€-03, do=1.4e-02)

1
g

Y=3439 (dx=1.1e-02, do=2. 3e- 02)

= Residual*5
== Trace

pfsArm T pfsArm
1 = (x=467.73, 0=1.13) 1 = (x=466.52, 0=1.13)
| calExp | calExp
= (x=467.73, 0=1.15) - = (x=466.53, 0=1.16)

= Residual*5
w— Trace

460 470 480

450 460 470 480

Y=736 (dx=1.4e-01, do=3.0e-02)

_(x= 468 66, 0=1.15)
— Residual*s
== Trace

Y=1719 (dx=-9.2e-03, do=-6.9e-04)

e Residual*5
= Trace

Y=2702 (dx=-5.2e-02, do=2.0e-02)

pfsArm
1 = (x=469.40, 0=1.13)
1 calExp

m—(x=469.34, 0=1.15)
= Residual*5
| Trace

Y=3684 (dx=4.0e-02, do=4.2e-02)
I

pfsA
_(x= 464 97, 0=1.14)

- calEx|
_(x= 465 01, 0=1.18)

me Residual*5
w— Trace

450 460 470 480

Y=982 (dx=5.1e-02, do=1.2e-02)

T pfsArm
1 = (x=469.28, 0=1.12)
| calExp

- (x= 469 33, 0=1.13)
m— Residual*s

== Trace

1
Y=1965 (dx=-2.6e-02, do=1.1e-02)
T
1 = F:s’:r% 38, 0=1.12)
| _(C:I470360 1.13)
= Residual*5
== Trace

Y=2947 (dx=-3.0e-02, do=1.3e-02)

pfsArm
| ™ (x=468.67,0=113)
1 calExp
= (x=468.64, 0=1.14)
= Residual*5
- Trace
|
1
1
T 1 T T
Y=3930 (dx=4.5e-02, do=9.6e-02)
T pfsArm
- 1 = (x=462.98, 0=1.14)
| calExp
= (x=463.03, 0=1.23)

e Residual*5
= Trace

450 460 470
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Y=245 (dx=6.4e-03, do=1.7e-01)

f=1915, X=306.6

Y=491 (dx=8.9e-02, do=6.5e-02)

pfsArm
1 = (x=304.37, 0=127)
calExp
= (x=304.38, 0=1.44)
m—_Residual*5
== Trace

pfsArm
1 = (x=306.03, 0=121)

calExp
= (x=306.12, 0=1.28)
m— Residual*5

== Trace

Y=1473 (dx=2.0e-02, do=-4.9e-02)

= (x=308.35, 0=1.20)
e Residual*5
== Trace

pfsArm I pfsArm
= (x=308.50, 0=1.44) 1 = (x=309.14, 0=125)
calExp i 1 calExp

= (x=309.16, 0=1.20)
e Residual*5
== Trace

1 1

Y=2210 (dx=-3.2e-02, do=-4.5e-02) Y=2456 (dx=-8.4e-03, do=-6.8e-02)
I pfsArm I pfsArm
1 = (x=309.16, 0=1.26) | ™ (x=308.50, 0=1.51)

calExp
m—(x=309.13, 0=1.22)
e Residual*5

= Trace

calExp
m—(x=308.49, 0=1.44)
= Residual*5

w— Trace

pfsArm
= (x=306.18, 0=1.28)
calExp
= (x=306.13, 0=1.26)
m—Residual*5
- Trace

pfsArm
= (x=304.51, 0=1.47)
calExp
= (x=304.53, 0=1.48)
= Residual*5
- Trace

290 300 310 320

290 300 310 320

Y=736 (dx=4.0e-02, do=4.1e-02)

pfsArm
1 = (x=307.19, 0=123)

calExp
= (x=307.23, 0=1.27)
— Residual*s

w | Trace

pfsArm
(x=309.30, 0=1.30)

calExp
= (x=309.28, 0=1.24)
= Residual*5

pfsArm
= (x=308.17, 0=1.26)

calExp
m—(x=308.14, 0=1.21)
= Residual*5

w— Trace

Y=3684 (dx=-2.2e-02, do=4.0e-02)

pfsArm
| = (x=302.55,0=155)

calExp
= (x=302.53, 0=1.59)
me Residual*5
= Trace

290 300 310

Y=982 (dx=6.3e-02, do=-2.7e-02)

pfsArm
= (x=308.10, 0=123)

calExp
= (x=308.16, 0=1.20)

e Residual*5

pfsArm
(x=309.31, 0=1.30)

calExp
= (x=309.32, 0=124)
= Residual*5

1
Y=2947 (dx=-5.5e-02, do=-1.0e-02)
T
1 = F:igrg.za, 0=1.31)
calExp

m—(x=307.22, 0=1.30)
e Residual*5
= Trace

Y=3930 (dx=-5.6e-02, do=1.5e-01)

pfsArm
= (x=300.41, 0=1.36)
calExp
= (x=300.35, 0=1.51)
= Residual*5
- Trace

290

300

310
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Y=245 (dx=3.7e-02, do=5.4e-02)

f=1916, X=300.4

Y=491 (dx=6.5e-02, do=4.7e-02)

= (x=298.32, 0=123)
— Residual*s
w | Trace

|

|

|

1

u] 1
B

1

pfsArm pfsArm T
= (x=298.28, 0=1.17) (x=299.83, 0=1.16) I
calExp calExp 1

= (x=299.90, 0=1.21)

e Residual*s

= Trace

Y=1228 (dx=1.2e-03, do=-4.3e-02)

Y=1473 (dx=4.0e-03, do=-2.7e-02)

= Residual*5
o == Trace

pfsArm I I pfsArm
m—(=302.60, 0=1.17) a 1 = (x=303.06, 0=1.17)
calExp 1 calExp
= (x=302.60, 0=1.13)

= (x=303.07, 0=1.15)
= Residual*5
= Trace

1
Y=2210 (dx=-1.6e-02, do=-2.8e-02) Y=2456 (dx=-2.6e-02, do=-2.6e-02)
; gy
1 = F:S:;Bg 09, 0=1.18) ] - r;?a%nz.es, 0=1.17)
. I — (C;‘:E;(?B 08, 0=1.15) I [r— 1(>?I=E3x(;)2.63, 0=1.15)

e Residual*5

= Residual*5

Y=3193 (dx=-4.9e-02, do=-1.6e-02)

Y=3439 (dx=-2.2e-02, do=1.4e-02)

e Residual*5
= Trace

pfsArm pfsArm
1 = (x=300.10, 0=1.19) 1 = (x=298.60, 0=1.18)
| calExp - | calExp
= (x=300.06, 0=1.18) = (x=298.58, 0=1.20)

= Residual*5
w— Trace

290 300 310

Y=736 (dx=4.3e-02, do=-2.6e-03)

pfsArm T
= (x=301.09, 0=1.18) 1

calExp
= (x=301.13, 0=1.17)
7| == Residual*s
== Trace

1
Y=1719 (dx=-3.2e-02, do=-2.7e-02)
T
1 = fxfi@'(?}.zs, 0=1.17)
— 1 calExp

= (x=303.23, 0=1.14)
= Residual*5
= Trace

I pfsArm
1 = (x=303.27, 0=1.17)
1 calExp

1 = (x=303.23, 0=1.15)

Y=2702 (dx=-7.6e-02, do=-2.2e-02)

I pfsArm
1 = (x=302.09, 0=1.19)
1 calExp

- = (x=302.01, 0=1.17)
Residual*5

T I pfsArm
1 = (x=30123, 0=1.19)
1 calExp

Y=3684 (dx=-1.5e-02, do=3.0e-02)

pfsArm
1 = (x=296.71, 0=1.18)

-1 | calExp
= (x=296.70, 0=1.21)

e Residual*5
w— | Trace

280 290 300 310

Y=982 (dx=2.2e-02, do=-4.5e-02)
T

pfsArm
| ™ (x=301.93 0=1.16)

1 calExp
= (x=301.95, 0=1.11)

e Residual*5
== Trace

Y=1965 (dx=-3.9e-02, do=-2.5e-02)

e Residual*5
= Trace

Y=2947 (dx=-3.1e-02, do=1.3e-03)

= (x=301.20, 0=1.19)
= Residual*5

Y=3930 (dx=-6.2e-03, do=1.2e-01)

pfsArm
1 = (x=294.37, 0=1.19)
| calExp
= (x=294.36, 0=1.31)

e Residual*5
= Trace

280 290 300 310
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Y=245 (dx=6.5e-03, do=1.7e-01)

f=1925, X=244.3

Y=491 (dx=-6.7e-02, do=2.2e-01)

Y=736 (dx=1.1e-01, do=9.6e-02)

T pfsArm
1 = (x=242.08, 0=122)

calExp
- (x=242.09, 0=1.39)

w— Residual*5
== Trace

oo
-'d_I'-

pfsArm
| ™ (x=24354,0=137)

calExp
= (x=243.47, 0=1.59)
— Residual*s

w | Trace

T pfsArm
1 = (x=245.03, 0=121)

calExp
= (x=245.15, 0=1.30)

e Residual*s
= Trace

Y=1228 (dx=7.7e-02, do=7.0e-02)

Y=1719 (dx=5.7e-03, do=1.1e-03)

= (x=246.53, 0=1.46)
e Residual*5
== Trace

I pfsArm I pfsArm
1 = (x=246.46, 0=1.39) 1 = (x=247.11, 0=125)
calExp calExp

= (x=247.17, 0=123)
e Residual*5
== Trace

I pfsArm
1 = (x=247.29, 0=1.28)
1 calExp

= (x=247.30, 0=1.28)
= Residual*5
= Trace

Y=2210 (dx=1.4e-02, do=-2.6e-02)

pfsArm
- (x=247.12, 0=127)

calExp
m—(x=247.13, 0=1.25)
e Residual*5

= Trace

I pfsArm
| ™ (x=246.47,0=1.47)

calExp
—(x=246.44, 0=1.47)
= Residual*5

w— Trace

pfsArm
1 = (x=246.06, 0=126)

calEx
m—(x=246.05, 0=1.27)
= Residual*5
w— Trace

pfsArm
= (x=243.97, 0=127)

calExp
= (x=244.00, 0=1.30)
e Residual*s
= Trace

pfsArm
= (x=242.30, 0=1.35)

calExp
— (x=242.29, 0=1.46)
= Residual*5
= Trace

1

Y=3684 (dx=-2.6e-02, do=1.1e-01)
T
1 = Fxfig%.az,aﬂam
| - (cxaI:szfoso, 0=1.45)

me Residual*5
w— Trace
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Y=982 (dx=1.0e-01, do=3.5e-02)

- T pfsArm
| ™ (x=24557,0=158)
calExp

= (x=245.67, 0=1.62)
e Residual*5
== Trace

I pfsArm
1 = (x=247.28, 0=1.30)

calExp
= (x=247.31, 0=127)
= Residual*5

w— Trace

pfsArm
1 = (x=245.13, 0=129)

calEx|
m—(x=245.15, 0=1.34)
e Residual*5
= Trace

Y=3930 (dx=-2.0e-01, do=2.5e-01)

- T pfsArm
| = (x=237.51,0=1.59)

| calExp
= (x=237.31, 0=1.84)

e Residual*5
= Trace
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Y=245 (dx=-8.5e-03, do=7.2e-02)

f=1926, X=238.1

Y=491 (dx=2.0e-01, do=8.7e-02)

Y=736 (dx=1.4e-01, do=7.0e-02)

pfsArm T - pfsArm T
= (x=235.86, 0=1.20) 1 = (x=237.58, 0=1.18) 1
calExp 1 calExp 1

= (x=235.85, 0=1.27)
w— Residual*s
== Trace

= (x=237.78, 0=1.27)
e Residual*s
= Trace

pfsArm T
= (x=238.83, 0=121) 1

calExp
= (x=238.97,0=128)
wm— Residual*s
== Trace

Y=1228 (dx=8.1e-02, do=1.8e-02)

Y=1473 (dx=6.9e-02, do=1.8e-02)

Y=1719 (dx=2.0e-02, do=-3.8e-03)

I pfsArm I pfsArm
1 = (x=240.51, 0=1.20) 1 = (x=240.89, 0=125)
1 calExp 1 calExp

— (x=240.59, 0=1.22) = (x=240.96, 0=127)

e Residual*5
= Trace

e Residual*5

] === Residual*5

pfsArm I
= (x=24124, 0=1.19) 1

calExp 1
= (x=241.26, 0=1.18)

w— Trace

Y=2210 (dx=-6.1e-03, do=4.6e-02)

Y=2456 (dx=-9.9e-03, do=2.5e-02)

T pfsArm I pfsArm
| ™ x=240.91,0=126) 1 1 = (x=240.57, 0=121)
1 calExp 1 calExp

= (x=240.90, 0=1.31) = (x=240.56, 0=1.23)

e Residual*5
= Trace

e Residual*5
= Trace

1
Y=2702 (dx=-7.4e-03, do=1.4e-02)
1 = F;i/;rgns.ss, 0=1.25)
I r— 1(>?|=sz§9.54, 0=1.27)

= Residual*5
w— Trace

Y=982 (dx=7.0e-02, do=-3.5e-02)

T pfsArm
| ™ (x=23979,0=122)

calExp
= (x=239.86, 0=1.18)

e Residual*5
== Trace

Y=1965 (dx=3.8e-02, do=-1.7e-02)

I pfsArm

1 = (x=241.25, 0=1.19)

1 calExp
—(x=241.29, 0=1.17)

e Residual*5
= Trace

Y=2947 (dx=2.1e-02, do=2.6e-02)

pfsArm
1 = (x=239.07, 0=1.20)
1 calExp

m—(x=239.09, 0=1.22)
e Residual*5
= Trace

1

Y=3193 (dx=-1.4€-02, do=5.1e-02) Y=3439 (dx=7.4e-02, do=7.2e-02)
T pfsArm N T pfsArm
1 = (x=237.75, 0=1.25) 1 = (x=236.27, 0=1.20)
| — (CELE;;TM, 0=1.30) | — ff‘:szge 35, 0=1.28)

= Residual*5
== Trace

e Residual*5
= Trace

1
Y=3684 (dx=3.9e-02, do=8.7e-02)
T
1 = F;iAzr;Lzr 0=1.20)
| - tcxalezxzp4.31, 0=1.29)

e Residual*5

Y=3930 (dx=2.3e-02, do=1.2e-01)

T pfsArm
1 = (x=231.66, 0=124)

calExp
=== (x=231.68, 0=1.36)
= Residual*5
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